
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

1575, 7 × 0.01 = ________ 9623, 8 × 0.001 = ________

5324, 1 × 0.01 = ________ 8475, 9 × 0.01 = ________

7381, 4 × 0.1 = ________ 9254, 6 × 0.0001 = ________

5772, 6 × 0.1 = ________ 5101, 6 × 0.001 = ________

6167, 3 × 0.0001 = ________ 9784, 5 × 0.001 = ________

7497, 9 × 0.0001 = ________ 8012, 5 × 0.1 = ________

1955, 5 × 0.0001 = ________ 6167 × 0.001 = ________

4705, 9 × 0.001 = ________ 9371, 8 × 0.01 = ________

3386, 5 × 0.01 = ________ 5581, 5 × 0.0001 = ________

5369 × 0.001 = ________ 7572 × 0.01 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

1575, 7 × 0.01 = 15.757 9623, 8 × 0.001 = 9.6238

5324, 1 × 0.01 = 53.241 8475, 9 × 0.01 = 84.759

7381, 4 × 0.1 = 738.14 9254, 6 × 0.0001 = 0.92546

5772, 6 × 0.1 = 577.26 5101, 6 × 0.001 = 5.1016

6167, 3 × 0.0001 = 0.61673 9784, 5 × 0.001 = 9.7845

7497, 9 × 0.0001 = 0.74979 8012, 5 × 0.1 = 801.25

1955, 5 × 0.0001 = 0.19555 6167 × 0.001 = 6.167

4705, 9 × 0.001 = 4.7059 9371, 8 × 0.01 = 93.718

3386, 5 × 0.01 = 33.865 5581, 5 × 0.0001 = 0.55815

5369 × 0.001 = 5.369 7572 × 0.01 = 75.72
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